








Blue Bird

Body Number

Outside Inspection Right 

(Curb) Side

Rear Wheelhouse Joint 

Outside Inspection Left  

(Driver's) Side

Rear Wheelhouse Joint

Inside Inspection 

Right (Curb)  Side

Rear Wheelhouse Joint 

Inside Inspection 

Left (Driver's)  Side

Rear Wheelhouse Joint 

Date Rear 

Wheelhouse 

Joints Inspected

 

Signature

Print Name and Telephone Number

Recall R14XC Inspection Sheet 

Rear Wheelhouse to Body Gusset Panel Joint 
Write "Pass" if joint passes inspection. Write "Fail" if  joint does not pass inspection. 

If outside inspection passes, no further inspections are required.

City, State, Zip

School or Company Name

 Shipping Address



 

  
  
--

R
  

 E
  
 C

  
 A

  
 L

  
 L

  
  
  
C

  
 A

  
 M

  
 P

  
 A

  
 I

  
 G

  
 N

  
 -

--
R

  
 1

  
 4

  
 X

  
 C

--
-

--
  
  

              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              
              

Rear Wheelhousing Joint

  

 
Models Affected: 2012-2014 Vision and All American w/standard floor and without optional 

rubber fenders. 

  ISSUE   ______________ ____________  __   __   CORRECTIVE  ACTION________----___         

WARNING:  Always follow all Federal, State, Local and Shop safety standards and use 

proper safety equipment, and thoroughly read and understand all instructions before 

performing these procedures. 

 
WARNING:  Before using Magnobond adhesive, review manufacturer’s handling 

instructions and cautions included with each shipment. 
 

Procedure 1 

 Inspect underside of each rear wheelhousing for deformed panel.  

 If panel is deformed (pic 1), proceed to Procedure 2. 

 If panel is not deformed (pic 2), recall is complete. Return bus to service.  

 

      
Picture 1               Picture 2 

 PROCEDURE                                                                                               _                                                                                        

Rear wheelhousing to body gusset panel joint 

may not comply with FMVSS 221, Joint Strength 

requirement. 

Inspect for deformed wheelhousing and 

repair as necessary to comply with FMVSS 

221, Joint Strength requirement. 



 

  
  
--

R
  

 E
  
 C

  
 A

  
 L

  
 L

  
  
  
C

  
 A

  
 M

  
 P

  
 A

  
 I

  
 G

  
 N

  
 -

--
R

  
 1

  
 4

  
 X

  
 C

--
-

--
  
  

              
              
              
              
         

 

 

 

 

 

 

 

 

Procedure 2 

 Remove wheelhousing cover screws and slide the wheelhousing cover towards the center 

of the bus. 

NOTE: Passenger seat(s) do not need to be removed for this step. 

 Inspect the joint where the wheelhousing meets the gusset. 

 If there is a gap present or the spot welds visibly appear to be compromised (pic 3), 

proceed to procedure 3. 

 If there is no gap present (pic 4), replace the wheelhousing cover.  

 Place the wheelhousing cover into position, seal under the lip of the cover using black 

sealant (Manus Bond). 

 Install perimeter screws. 

 Recall is complete. Return bus to service. 

 
Picture 3 

 

 
Picture 4 

 



 

  
  
--

R
  
 E

  
 C

  
 A

  
 L

  
 L

  
  

  
C

  
 A

  
 M

  
 P

  
 A

  
 I

  
 G

  
 N

  
 -

--
R

  
 1

  
 4

  
 X

  
 C

--
-

--
  
  

 

 

 

Procedure 3 
WARNING: Secure the bus with jack stands and chock the wheels accordingly to prevent the bus 

from moving.  

 Remove the tire(s) on the side of the affected wheelhousing. 

 Remove the seat(s) over the affected wheelhousing. Discard the mounting bolts and nuts. 

 Remove any loose sealant or debris from the gapped area. 

 Using a wire brush, wire 

wheel or die grinder, 

remove any paint from 

between the wheelhousing 

and gusset ledge. 

 Using the appropriate body 

hammers and/or slide 

hammers form the 

wheelhousing as required 

so there is little to no gap 

between it and the gusset 

edge. (pic 5)  

 

Picture 5 

 

 Beginning at the radius where the gap is, 

measure 1¼” from the side panel and drill 

a hole (17/64”) to install a self-threading 

fastener (02000198) to pull the wheel 

housing up to the gusset and close the gap.    

(pic 6)  

 Continue to drill and install a fastener 

every 7 inches the entire radius of the 

wheel housing. 

 Once all fasteners are installed, verify there 

is no gap in the joint.  

Picture 6 

 

NOTE: Continue working the material with the body hammers and installing fastener until there is no 

gap present. 

 



 

  
  
--

R
  

 E
  
 C

  
 A

  
 L

  
 L

  
  

  
C

  
 A

  
 M

  
 P

  
 A

  
 I

  
 G

  
 N

  
 -

--
R

  
 1

  
 4

  
 X

  
 C

--
-

--
  
  

 

 

 

Prepare the surface for Magnobond adhesive.  

WARNING:  Before using Magnobond adhesive, review manufacturer’s handling 

instructions and cautions included with each shipment. 

NOTE: Be sure there is no paint, dirt or silicone within the area the adhesive is to be applied  

 Remove all self-threading fasteners that were previously installed. 

 Apply a ¼” bead of Magnobond 

adhesive between the wheelhousing 

and gusset edge. (pic 7)  

NOTE: It may be necessary to use a 

pry bar and block of wood to apply 

downward pressure to the top of the 

wheelhousing to allow access to 

apply the adhesive. 

         

 Re-Install the self-threading 

fasteners working towards the center 

of the wheelhousing. 

 Centered between each fastener, drill 

a 17/64” hole and install a ¼” repair rivet (01854397).                    Picture 7 

 There should be a fastener at least 

every 3.5 inches. (pic 8)  

 Spray undercoating on the exposed 

rivets and fastener heads. 

 Allow ample time for the Magnobond 

to dry to the touch, normally 1-6 

hours. 

 Install wheelhousing cover; Place the 

wheelhousing cover into position, seal 

under the lip of the cover using black 

sealant (Manus Bond). 

 

    Picture 8 

 

 



 

  
  
--

R
  

 E
  
 C

  
 A

  
 L

  
 L

  
  
  
C

  
 A

  
 M

  
 P

  
 A

  
 I

  
 G

  
 N

  
 -

--
R

  
 1

  
 4

  
 X

  
 C

--
-

--
  
  

 

 

 Install seat using new bolts and nuts. Reference Seat Parts List for torque specifications.  

 Recall is complete. Place bus back into service. 

Repair Parts List Contact Blue Bird Recall Administration at 478-822-2242 to obtain repair parts if 

needed. 

Quantity 
Part 

Number Description 

14 01854397 Rivet, Blind, .25 Dia, .38 grip 

14 02000198 SCREW,5-16-18 X 1,F,HEX HD,YEL ZN DICH             

AS NEEDED NPN 17/64 DRILL BIT, OBTAIN LOCALLY 

AS NEEDED NPN Undercoating, OBTAIN LOCALLY 

1 10016413 Nozzle, Joint, Mixing, Static 1  

1 10016411 Adhesive, Joint, Magnobond 200ML/200ML *** 

1 10016412 Gun, Dispensing, 2 Barrel 1  

1 10028090 Sealant, Black, Manus Bond 

   ***One tube set will do multiple buses*** 

 

Seat Parts List   Contact Blue Bird Recall Administration at 478-822-2242 to obtain repair parts if 

needed. 

Seat Ledge Mounting Fasteners   
  Part Number Description Quantity Torque ft-lb 

00854406 Capscrew, 5/16-18 x 1, GR8 3   

00829390 Nut, 5/16-18, SER Washer 3 12-13 

10021595 Capscrew, 3/8-16 x 2, GR8 1   

00543934 Nut, 3/8-16, SER Washer 1 13-15 

    

    Floor Mounting Fasteners   
  Part Number Description Quantity Torque ft-lb 

10021595 Capscrew, 3/8-16 x 2, GR8 6   

00543934 Nut, 3/8-16, SER Washer 6 18-20 

 

NOTE: Re-torque the seat bolts after one month or 1,000 miles of service. 

 


	R14XC Dealer Letter
	R14XC Owner letter
	Recall R14XC Wheelhousing Joint (FINAL)_I.pdf

